do

Ratio to ATLAS

3} [pb,GeV ]
lSoo

8000 GeV pp Z (Drell-Yan)
1:| I I I I T T | I I I I T T | ] ﬂ
c
L o 1o
= Splitting scale\/dﬁ3 (71 <m <111 GeV) =k
= 33
_ i
2 — _N
= ==
— A
— miy
™
10 o
= .=
— o d
1 =
- = ,g,
_l | p—
10 = =&
= 39
- m  ATLAS =9
10% = --0-- Pythia 6.428 345 _gi
= 7 Pythia 6.428 346 3%
— —A— Pythia 6.428 370 mEs
107 & | = c
= Pythia 6.428 default 3 <
— —&— Pythia 8.308 default 38
| —
107 - ==
— - O
1:| | | | | I | | | | | I | — E
|:| T T T T T T T T | T T T T T T T T | :
2 E —2
C 5 |
— m..%‘tl\ |
B R i
1 2 1
0.5 —0.5
1 1 1 1 1 1 1 |

10°
sqrt{d_3} [GeV]



	Contents
	Page 1


